2.3 (electric field)
231 OJO0O00O0O00O0OO

000000000 (2.1.3)0

1 g .
(1) Fio;=qkl3, FEp= 5 T12,

0000E,=00¢0r,00000000)
N0000000000000000 (0 (2.2.4)000

2 F = E F, = E E,, FE,= 2
“ i=1 i—1 ' dmeo 17 '
(3) F =qE(r)

HRERERERNRN



. g (7
) E(r) = ;E N 47T€0 Z r — 73

Er)0|0 000000 DO00D0OODODOO

N00000000000000000000
1(2.2.9900000000

L[l =)
5 E(r) = dv’.
(5) (7) 47Tgo/v 1
Oooooboo @LuoorerobOoOdd

N N

C A-s’



Jouoood

(6) F =qE(r)
Or0000000 000000000 (x)ObO00O0O00oO0n

b= g

(000 dobooooooooooooobooooboooood
Ooad (4))

D000 .1.3))U000000o0ooooooooooood
Jbbuii=4udboogtd

Jooooodooodd
o000 (@booooooooo)ybobooooooood

N000000000000000000000000000 (»)
000 @0D0000000000@oO000n)

7) E =E(r,t).

(DO0O00DOO000DOO00O0OE=E(r)0d)



oo

00000000 T(z,y,t)0 SN

000000000000000 @
000000000000000

00 200000000000

2000 (+100000)0000
000000000000000
000000000000

Jooogduood

(8) T=T(z,y,z2t), (3+1)000000D0.

Jogooboboooobobooodd



232 UUODODOoUOUd
oot 300t oo

DOooooodooooooooo:

Jogdooootdoootdoogin
OO)oooooooooooood
HREENEN

(9) E =E(r,t).

HREpNEN

Joooogdog

oot bododotdotn
Joooodoooddng

— Uy

oot dogtdod

HREEN

oot dogtdod
Joodooodbooboodoodn
Juooodun



Ooodoooooooo@oooo)yboboboooooood

Juooodun

000010000
000000¢>00000

1 .
10) E(r)= o Tq2'r. \

O -dodogobodotdn
(0O)oO -
g 1 / Y

E = .
471'807"2
D000 ~00000000000000

A

g 1
47’(’50 7“2.

(11) n

I/
7N



Jooooood NGO,

12) N=4mlnx L (O00000O0O0O00O0O0)
€0

Jogoboiliooboboboodddd

(13) N=12
€0

Joduodd qt O q/eODDDDDDDDDD

(q<ODDDDDq/5ODDDD)



¥y

A/

/o

Joodootootn

Juooodd
[ [

0:200000 +q, —q0

e e v T IR N~~~ o~
e A AN S S
AAAASA PR
FAAAAAEEE RN
RS N O O SO R O B O
LA UL UL L T B B A A
NXXNNNN A A S S
S N N R A P PP
e~~~
e I
R N CSN
A AN

HREpNEN

Jooododooooddooi
ooy nob i



233 UL UOOHOUOUOOLODDOUOOOOOLO O
000000 (O (4)

Az

Qz d
14 E . =X
14) 47T€OZ,Z_: 7 — 73 21

O

1 1: 000dd 0 |
00 1: +q, 7 = (0,0,d/2)0 Ly

00 2: —q, 7o = (0,0, —d/2)0 g
q T —7 T —7To

15 E — _

(15) (r) 4deg [|r—r1|3 7 — 7ro3

r000020000 P=(0,0,2)00000
00000000 0000000



(16) E.(2) q [ z—d/2 z4d/2 ]

T dmeg ||z —d/2B |z +d/2)3

O0000O00oooooogd|z>»>dobonood

an E.(2) q =z ll—d/(Zz) 1+d/(2z2) ]

T dmeg 2P |[1—d/(22)F |1 +d/(22)]?
~ L ‘5‘3 [(1 _ %)(1 +3%) 0+ %)(1 —3%)]

q =z 2d  q 2d
dmey |23 2 dmeg |23

(O: el < 10000 —e€)™=14ne+0(2)0)
00D000001/|-P0000000C0



Jodduoog
D 2000000000000 (;0000)

Oooooooooo@oo)bo ad
Joooououon oo
OO0 /0000000000000
200 doddon dobtddy
Jotb00douodbootddot
y—z U oo obod
ooyttt

atlon g,000000

1 cos6@ 1 cos 6

18 dE, = Adl = Ad/
(18) Y drrey 12 drey (y/ cosb)?
A 00839d€: A COS@dQ.
dreg Y2 deg

(rcosf =y, {/y =tanf, dl = ydf/cos*0 000 00O)



Oooooooooo@oono)o

U A1
19 E — — 0db = —.

Joooooobooon



	ÅÅ¾ì(electric field)
	¥¯¡¼¥í¥ó¤ÎË¡Â§¤ÈÅÅ¾ì
	ÅÅ¾ì¤ÈÅÅµ¤ÎÏÀþ
	ÅÅ²ÙÊ¬ÉÛ¤¬Í¿¤¨¤é¤ì¤Æ¤¤¤ë¾ì¹ç¤ÎÅÅ¾ì

	subsection {ÅÅ¾ì(electric field)}

